
WireCrafters
RapidGuard II Cable Tray Support 

Installation Instructions

Included In This Manual

REVISION 0  APRIL 2025

We're Here To Help
1-800-626-1816

Description Page

Recommended Tools 2

RTCTSCNR BOM 3

RTCTSPNL BOM 4

RTCTSRN BOM 5

RTCTSCNR & RTCTSRN Installation 6

RTCTSPNL Panel Installation 7

RTCTSPNL Mesh Installation 8

RTCTSPNL Post Face Installation 9

RTCTSPNL 

(POST)

RTCTSRN

RTCTSCNR

RTCTSPNL 

(PANEL)

RTCTSPNL 

(MESH)



WireCrafters                          Recommended Tools    

-Page 2-

Ratchet

7/16" Socket

1/2"   Socket

7/16" Wrench

1/2"   Wrench

Cordless Drill

3/8" Driver



RTCTSCNR

Cable Tray 

Support Corner

RTCTSRCTFW

Rectangular 

Flat Washer

Part No. Description Qty.

FS141CB

1/4"-20 X 1" Carriage Bolt

2

FS141FW 1/4" Flat Washer 4

SUD14LN 1/4"-20 Lock Nut 2

WireCrafters                             RTCTSCNR BOM 

-Page 3-

Hardware



RTCTSPNL

Cable Tray 

Support Panel

RTCTSRCTFW

Rectangular Flat Washer

RTCTSRN

Cable Tray Support 

Panel Back Plate

Part No. Description Qty.

FS141CB

1/4"-20 x 1" Carriage Bolt

2

FS141FW 1/4" Flat Washer 4

SUD14LN 1/4"-20 Lock Nut 2

FS14SDST

1/4"-14 x 1" Self Drilling / Tapping Screw

3

FS5161CB

5/16"-18 x 1" Carriage Bolt

2

FS516FN

5/16"-18 Flange Nut

2

WireCrafters                                   RTCTSPNL BOM

-Page 4-

Hardware



RTCTSRN

Cable Tray Support Run

RTCTSRCTFW

Rectangular Flat Washer

Part No. Description Qty.

FS141CB

1/4"-20 X 1" Carriage Bolt

2

FS141FW 1/4" Flat Washer 4

SUD14LN 1/4"-20 Lock Nut 2

WireCrafters                                    RTCTSRN BOM

-Page 5-

Hardware



RTCTSRN

Cable Tray Support Run

RTCTSRCTFW

Rectangular Flat Washer

FS141CB

1/4"-20 x 1" Carriage Bolt

NOTE: Cable Tray Support Orientation 

Can Be Rotated in 90~ Intervals

FS14FW 

1/4" Flat Washer

SUD14LN

1/4" Lock Nut

RTCTSCNR

Cable Tray Support Corner

Cable Tray Shown for

Illustration Purposes

Inside View Shown

Installed Example Shown

WireCrafters  RTCTSCNR & RTCTSRN Installation

-Page 6-



WireCrafters               RTCTSPNL Panel Installation

-Page 7-

FS5161CB

5/16"-18 x 1" Carriage Bolt

FS141CB

1/4"-20 x 1" Carriage Bolt

RTCTSRECTFW

Rectangular Flat Washer 

FS14FW

1/4" Flat Washer

SUD14LN

1/4"-20  Lock Nut

RTCTSPNL

Cable Tray Support Panel

FS516FN

5/16" Flange Nut

Cable Tray Shown for 

Illustration Purposes

(Same Each End)

Inside View Shown

Installed Example Shown



RTCTSPNLBK

Backing  Plate

FS5161CB

5/16"-18 x 1" 

Carriage Bolt

FS141CB

1/4"-20 x 1" Carriage Bolt

RTCTSRCTFW

Rectangular Flat Washer

RTCTSPNL 

Cable Tray SUpport Panel

FS516FN

5/16" - 18  Flange Nut

SUD14LN

1/4" - 20 Lock Nut

FS14FW

1/4" Flat Washer

WireCrafters              RTCTSPNL Mesh Installation

-Page 8-

Inside View Shown



RTCTSPNL 

Cable Tray 

Support Panel

RTCTSRCTFW

Rectangular Flat Washer

FS141CB

1/4"-20 x 1" Carriage Bolt

Cable Tray Shown for

Illustration Purposes

FS14FW 

1/4" Flat Washer

SUD14LN

1/4" Lock Nut

FS14SDST

1/4"x 1"  

Self-Drilling 

Self-Tapping Screw

Note: Position On Post Face(s) as Desired.

(Same Each End)

WireCrafters         RTCTSPNL Post Face Installation

-Page 9-



WireCrafters                                        800-626-1816

Thanks for using

WireCrafters
Wire Partition Systems

For more information on WireCrafters products please visit our website at www.wirecrafters.com


